
 

Apr 7 Symmetric functions and Lagrange's solutionof the quartz

Outline
Reviewing symmetric faulty
Fund them of symmetric funkier
Lagrange's son to thequartz



 














































































1 ZW Defy The elementary symmetric
Recall that Sn acts on function are

pay ring KCxy yXD via S X t 1 Xn

GE Sn f CKCxy xD Sz XiXztXiXzt txn.in

G f Xy in fLXrayiXrcm t
Su E Xi Xin

n y f XPXztX5Xy I eine Liken
F L2 3

o.fi XxotXXysn XiXzc Xn

We say they 1 1 symmetric These are all symmetric
if r f f fresh

Equivalently stabilizer Gf cSn
orbit Gf f



 














































































ere The elementary symmetric 12M Somepeople index
motions are

f Ita Xm t An
S X t 1 Xn

Sz Xix TX X t txn.in Upshti Coefficients of f

j are symmetre tuckers in Nob di

sie E Xie Xin strategy Try to solvent the
I E il c liken roots to using properties

of

symmetrifenations
Sir X Xz Xn

Fund Them of SYMMETRIC Emotions

Ftc If ftxl xtau.int tao
Anysymmetric fashion f Xy

Xn

factors as Lx a Lx H Ktm can be written as

an x that tan silky yd f x xn g Sy Sn

Au z Sz Ly 221
au s 514 x

for some poly g
r

Ceo C4 Suchy Rn



 














































































twitter.or SYMMETRKF.ua Exs Take F S

Anysymmetric fashion f Xy
xn glxyr.in X

can be written as Try to write
f xy xn g Sy sn xptxztx3 asftbsiSztCS

rsomepfor some a b c

ExampleifXptxz3tx3 Look at XP

How can write f in terms of 4 Eoff Eta
S xitxztxgdeg10 xptxztxf sp bsuztcs.su
Sz Xix txdot Xix tweet I O

s xiXzxz
Look at X7xz b

Look at
5,3 6 2

35 xPtxztx3 sup 3 c so
6 3

OG 6 9 _c
XiXzXz Look at XiXzXz cap



 














































































FrwDTteaor SYMMETRKFuc.no

Anysymmetric fashion f Xy
Xn

can be written as

f ha xn g Sy Sn

for somepoly.gs
Proofstvategy Look at monomials

in Xy Xn

Choose lexigraphical ordering

XP xp xp
See proof in notes



 














































































Lagrange's solution to the quartic Main insight S First solve for fits V
Then solve for de's

By similar reductions
to thecab

can assume that x f Lx E Etfs

f It AzX2tqXt9o X3 lfetfztfdxtlfrtztfztfzzxtg.LAt.IE
in notes as 4 HI fitfztfg

Suppose f Luck x NG hakxbkxhdq.me f fEztfzgf0 g t L S fiffz
Az Sz the Kid Reminder We know Sib
q Sz
9o Since glx is a cubic we can

Let f Lita Lota
solve it
it Gives us the fits

not symmetric
1 The orbit under Sy know thy Lithe

f f Letha
Z
Let22 FFT

ft Luthy Latha
f h tha beths



 














































































glxliabgmm
solve it
MGiuesusthefib.ly
know Lotty Lithe

f Letha
Z
Let2z FfT

Get ears
2t2z FfT 4th tf ditty Fff
thy FFT dztLy Ffz Lzth FFI

solve these linear egos

2 FfTtFEtr
Z

La FfT FE rf
Z

l

I


